Diagram for questions 1-5
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1. In the following diagram what is the distance from C→D?

a) 873.90

b) 873.80

c) 789.25

d) 790.12

2) What is the distance from B→C ?

a) 631.68

b) 631.75

c) 631.73

d) 631.62

3) What is the distance from C→G ?

a) 1263.25

b) 1264.25

c) 1265.25

d) 1266.28

4) What is the area of C E G (known as the segment area) portion?

a) 5.1 acres

b) 5.3 acres

c) 5.2 acres

d) 5.4 acres

5) What is the distance from A→E ?

a) 390.73

b) 389.76

c) 388.71

d) 376.15

Diagram for questions 6-9
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6. What is the station of A?

a) 35+19.51

b) 35+18.62
c) 35+16.51
d) 35+17.52

7. What is the station of B?

a) 9+07.76

b) 9+09.27
c) 9+06.81

d) 9+07.81

8. What is the area of C?

a) 1077.32
b) 1085.21

c) 1082.61

d) 1075.62

9. What is the distance from D to E?

a) 111.25

b) 112.68

c) 114.91

d) 111.39

10. What is the arc length from A to B

a) 61.56

b) 62.51

c) 62.53

d) 61.59

Use the following diagram for question 11-15
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11) What is the distance from B→A ?

a) 217.83

b) 218.96

c) 221.39

d) 218.67

12) What is the distance along the curve from E→F ?

a) 65.09

b) 65.87

c) 65.91

d) 65.02

13) What is the distance from B→E ?

a) 230.27

b) 232.19

c) 232.09

d) 232.01

14) What is the area of the shaded portion?

a) 2836

b) 2852

c) 3151

d) 3165

15) What is the distance from A→E ?

a) 128.78

b) 128.88

c) 128.98

d) 129.08

Situation for problems 16-20
A 842.56 foot vertical curve is needed for a section of highway with an approaching grade of -4.2% and a leaving grade of 1.6%.  The station, in feet, of the PVI is 16+70 and the elevation is 609.00 feet.  

16)  What is the station of the beginning of the vertical curve?

a)  2+80.72

b)  12+80.72

c)  12+48.72
d)  13+10.72

17)  What is the elevation of the beginning of the vertical curve?

a)  626.69 feet

b)  645.39 feet

c)  626.39 feet

d)  647.93 feet

18)  What is most nearly the station of the low point for the vertical curve?

a)  16+58.85

b)  17+58.85

c)  18+58.85
d)  18+58.05

19)  What is the elevation of the low point for the vertical curve?

a)  613.88 feet

b)  614.58 feet

c)  615.58 feet

d)  616.58 feet

20)  What is the elevation of the end of vertical curve?

a)  613.44 feet

b)  614.44 feet

c)  615.74 feet

d)  613.34 feet

21) With a length of 708.57 on a horizontal curve and a delta of 41º25’36” what is the radius?

a) 479

b) 673

c) 870

d) 980

22) What is the area of the question above?

a)  347,200

b)  348,200

c)  437,200

d)  448,200

23) On a 4:1 slope 10 feet high, how much extra dirt is there if the same  50.00 foot section is cut at a 2:1?

a) 1/2

b) 1/4

c) 1/8

d) 1/16

Diagram for questions 24-28
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          B                                          A

B→C AND A→D ARE PARALLEL
24. In the following diagram what is the distance from C→D?

a) 210.59

b) 210.69

c) 210.79

d) 210.89

25) What is the distance from B→C ?

a) 200.00

b) 210.00

c) 205.69

d) 205.89

26) What is the distance from D→F ?

a) 168.51

b) 167.91

c) 168.63

d) 168.58

27) What is the area of D E F ?

a) 12,471.60

b) 13,471.80

c) 14,472.60

d) 14,571.89

28) What is the distance from D→E ?

a) 163.30

b) 162.91

c) 163.05

d) 158.21

29. With a zenith angle of 96º37’25” what is the difference in elevation assuming both instrument and rod are the same Height at a distance of 87.39 feet.

a) 10.15

b) 10.69

c) 11.27

d) 11.28

30. What is the slope distance of the previous problem?

a) 87.98

b) 88.97

c) 86.43

d) 90.36

31. With departure of 225.68 and a latitude of – 627.71 what is the bearing and distance.

a) S 19º46’30”E  667.05

b) S 19º46’40”E  637.05

c) S 19º46’50”E  647.05

d) S 19º46’20”E  657.05

32)  If vertical photography is taken at a negative scale of 1:15,000, what would most nearly be the expected measurement on the photograph between to adjacent section corners?

a) 0.35 in

b) 1.8 in

c) 3.5 in

d) 4.2 in
33) With a focal length of 12 inches and a flying height of 13,000 feet with a elevation above sea level of 1,000 feet. What is the ground scale of the vertical photograph?

a) 1:15,000

b) 1:12,000

c) 1:14,000

d) 1:11,000

34) What would be the ground scale of problem #74 if the focal length was 6 inches?

a) 1:25,000

b) 1:22,000

c) 1:24,000

d) 1:21,000

35) If the scale is 1:4000 what is 1 inch equal to?

a) 1” = 333.3

b) 1” = 332.3

c) 1” = 323.3

d) 1” = 313.1

36) U.S. map accuracy standards are as follows:

a) 90% of all contours shall be plus or minus one quarter contour interval

b) 90 % of all spot elevations should be within one half contour interval

c) 90 % of all spot elevations should be within one quarter contour interval

d) 80 % of all spot elevations should be within one quarter contour interval

37) Write this equation “three times a number, plus the number cubed, minus the number multiplied by 97. Let b stand for the number referred to.

a) 3 x ( b + b³ ) -( 97 x  b )

b) 3 x ( b + b³ ) - 97 x b 

c) 3 x b + b ³ -  97 x b ) 

d) (3x b) + b³-( 97 x b )
38)  What is the meaning of the centerline station equation 125+15 BK = 123+00 AH?

a)  230 foot gain in traverse length

b)  230 foot loss in traverse length

c)  215 foot loss in traverse length

d)  215 foot gain in traverse length

39)  What relative error is the closest to that which would be the result of an angular error of 20˝?

a)  1 part in 100,000

b)  1 part in 20,000

c)  1 part in 50,000

d)  1 part in 10,000

40) A drainage ditch has a trapezoidal cross section with bottom width 6 feet, depth 4 feet, and top width of 24 feet. What is the area of the cross section

a) 60 square feet

b) 80 square feet
c) 100 square feet
d) 48 square feet


41) You have purchased a new survey vehicle for $32,000 and have payments for sixty months at 5%. How much will you save at the end of the loan if you get a bank to finance you at 3.5%?

a) $1438.10

b) $1252.30
c) $1517.20
d) $1304.40

42) How much do you save every month?

a) $21.74
b) $10.25
c) $8.62
d) $17.65

43)  Convert 75 mi/hr to ft/sec.

   a) 150 ft/sec 
   b) 110 ft/sec 
   c) 47 ft/sec 
   d) 180 ft/sec

44)  What is the closest to terminal velocity.

   a) 150 ft/sec 
   b) 110 ft/sec 
   c) 47 ft/sec 
   d) 180 ft/sec

45) The satellites orbit the earth at approximately what elevation?

a) 10,000 miles

b) 11,000 miles
c) 12,000 miles

d) 13,000 miles

Diagram for question 46
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46. What is the UGE distance of line PDB to service the science building?

a) 351.69

b) 358.61

c) 356.52

d) 343.58

Diagram for questions 47-48
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47. What is the distance from B→D?

a) 191.29
b) 190.68
c) 190.67
d) 191.16
49. What is the elevation of the instrument?

a) 342.29
b) 342.37
c) 342.33
d) 342.30
50. What is the distance from a point 5.25 below the instrument to the top of the tower?

a) 1119.93
b) 1121.02
c) 1119.64
d) 1122.55
Diagram for problems 51-52
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51. What is the distance from property line to bldg corner A?
a) 16.91
b) 17.02
c) 18.32
d) 15.35
52. What is the station of bldg corner A?

a) 10+40.00

b) 10+44.69

c) 10+44.35
d) 10+44.61
Diagram for questions 53-54
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53. What is the radius of the smoke stack to be constructed?

a) 15.66

b) 15.70

c) 15.73

d) 15.76

54. What is the square feet of the pipe using A=Pie X R² ?

a) 770.51

b) 770.49

c) 770.47 

d) 770.43
Diagram for 55-58
                        B                               C
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A→D is East
55. What is the distance from B→C?
a) 2228.40

b) 2227.61

c) 2227.40 

d) 2228.50
56. If A has coordinates N 5000 E 5000 and A→D is Due East, What is the intersecting coordinates?

a) N 6538.49  E 7367.73
b) N 6537.89  E 7368.27
c) N 6358.49  E 7368.27
d) N 6357.89  E 7367.37
57. What is the area of BEC?

a) 22 acres
b) 21.5 acres
c) 21 acres
d) 20.5 acres
58. What is the distance from A→C?

a) 4587.62

b) 4587.26
c) 4585.62

d) 4585.26
Diagram for 59-60
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59. What is the distance from C→D?

a) 443.28
b) 446.17
c) 446.19
d) 443.17
60. What is the distance of intersection E to point A?

a) 734.79
b) 734.86
c) 743.69
d) 734.69
Diagram for questions 61-65
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All answers must be Given in Feet

61. What is the length of the Guy wire X?

a) 234.69

b) 234.63

c) 235.08

d) 234.57

62. What is the length of the Guy wire Y?

a) 166.76

b) 166.89

c) 166.43

d) 166.25

63. What is the length of E→D?

a) 206.75

b) 207.75

c) 208.75

d) 209.75

64. What is distance from A to the centerline of the tower?

a) 217.02
b) 217.24
c) 217.48
d) 217.09
65. What is distance from C to the centerline of the tower?

a) 64.12
b) 64.24
c) 64.36
d) 64.48
66.  What formula would you use to calculate an open traverse? 

a)   n-2 (180) 

b)   n+2 (180) 

c)   n-2 (270) 

d)   None of the above 

67. In one corner of a 60 foot by 120 foot lot, otherwise rectangular, is a curve with a 

radius of 20 feet and a central angle of 90 degrees. What is the area of the lot? 

a) 6,872 square feet 

b) 6,951.5 square feet 

c) 7,114 square feet 

d) 7,200.5 square feet 

68. In running a level loop a 210 foot sight was taken with a rod reading of 10.50 feet 

recorded. When the reading was made the 12 foot rod was 9 inches out of plumb. The 

corrected rod reading is? 

a) 10.473 

b) 10.479 

c) 10.521 

d) 10.556 

69. A traverse 10,000 feet in length closes by .40 in latitude and -.60 in departure. The 

ratio of precision is? 

a) 1/10,000 

b) 1/14,000 

c) 1/50,000 

d) 1/62,500 

70.  If vertical photography is taken at a negative scale of 1:15,000, what would most 

nearly be the expected measurement on the photograph between to adjacent section 

corners? 

a) 0.35 in 

b) 1.8 in 

c) 3.5 in 

d) 4.2 in 

71. what is the area of an oblique triangle with the sides 40, 50, 60 

a) .0228 acres 

b) .0231 acres 

c) .0328 acres 

d) .0331 acres 

72.       35 degrees reduced in radians  

a) .6108 

b) .5108 

c) .4108 

d) .3108 

73. Given the following information what is the radius of the curve 

Arc Length 204.20 

Delta 26.0000 

a) 450.00 

b) 455.00 

c) 460.00 

d) 465.00 

74. Given the following information what is the low point station of the vertical curve. 

G1 -2.0,G2 5.0, Beg Station 12+00, Beg El  259.63, VC length 650.00 

a) 13+95.71 

b) 13+62.61 

c) 13+97.63 

d) 13+85.71 

75. What is the elevation of the low point? 

a. 257.77 

b) 258.69 

c) 251.73 

d) 301.25 

76. What is the EVC elevation 

a) 269.38 

b) 270.36 

c) 270.37 

d) 269.42 

77. How many cubic yards in a area 25 x 25 and is 10 feet deep? 

a) 260.52 

b) 269.38 

c) 241.61 

d) 231.48 

 78. how many cubic feet in question 77? 

a) 694.44 

b) 691.25 

c) 681.96 

d) 671.69 

79. The standard temperature for pull on a 100 foot tape is? 

a) 70 

b) 68 

c) 51  

d) 69 

80. A drainage ditch has a 4 ft flat bottom, 12 foot top width and average depth of 2 feet 

through 162 feet of level ground. How many cubic yards of dirt were removed? 

a) 96 

b) 144 

c) 288 

d) 864 

 81. The original government record of a fractional lot in the northwest quarter of 

section 5shows the following dimensions in chains: north side 19.83, east side 19.09, 

west side 19.31, and the south side 20.14. The area is mostly near? 

a) 38.33 acres 

b) 38.35 acres 

c) 38.37 acres 

d) 38.39 acres 

82.  An EDM distance of 1 mile is measured at an elevation of 1 mile.  The earths 

radius is assumed to be 20,906,000 feet.  What is the sea level distance? 

a)  5270.02 feet 

b)  5278.67 feet 

c)  5280.00 feet 

d)  5281.33 feet 

83. The elevation of BM A is 644.00 feet.  A level in perfect adjustment is set midway 

between BM A and BM B.  The backsight reading is 8.76 feet, and the foresight reading 

is 3.21 feet.  If the level rod at BM B is held at an angle of 10º to the vertical, then the 

correct elevation of BM B is ____________. 

a)  638.40 feet 

b)  649.50 feet 

c)  649.55 feet 

d)  649.60 feet 

84. For a change of 15 degrees, a 100 foot steel tape would change how much length? 

a) .01 

b) .02 

c) .03 

d) .04 

85. In taping down a slope the distance is measured 125.00 feet at a difference of 10 feet 

in elevation. What is the corrected distance? 

a) 124.60 

b) 124.51 

c) 124.02 

d) 123.86 

86.  What is the area of the sector of a circle with a radius of 60 feet and a middle ordinate of 25.00

a)  3411.75 square feet 

b)  3412.69 square feet 

c)  3413.72 square feet 

d)  1707.01 square feet 

87.  In the following description which of the following would be considered an 

example of a bounds?   

A parcel of land situated in Leon County, FL, being part of Section 21, Township 2 North, 

Range 1 East, being more particularly described as follows:  Beginning at an old railroad 

iron marking, the southwest corner of said Section 21; thence N80º42´E 542.00 feet to the 

westerly right of way of Highway 20; thence N2º35´W 120.00 feet along said right of way; 

thence N50º15´W 502.50 feet to an old iron pipe; thence S15º09´W 547.80 feet to the point 

of beginning. 

a)  N80º42´E 

b)  542.00 feet 

c)  Westerly right of way of Highway 20 

d)  None of the above 

88.  What is the area contained in the previous question? 

a)  1.49 acres 

b)  2.29 acres 

c)  3.61 acres 

d)  4.29 acres 

89. What is the standard width of the Railway system.
a) 4 feet 8.5 inches

b) 5 feet 9.25 inches

c) 5 feet 8.5 inches

d) 4 feet 8.25 inches

90. 20º Celsius is equal to what?

a) 68º  Fahrenheit

b) 48º  Fahrenheit

c) 78º  Fahrenheit

d) 58º  Fahrenheit

91. What does 32º Fahrenheit equal to?

a) 0º Celsius

b) 10º Celsius

c)  5º Celsius

d) -10º Celsius

Diagram for questions 92-94

[image: image12.jpg]10 m;
Proposed sewer line

o
Construct M.H. No. 2
ot 12'Rt. of Centerline - el
sta. 23+60

£ ~
24+00 23+80 23+00
Centerline of

existing road Construct M.H. No. 1 at é'Li. of Centedine




92. What is the station of M.H #1?

a) 23+10
b) 23+08
c) 23+06
d) 23+04
93. What is the length of pipe needed from MH to MH, if the distance from the center of the manhole to end of pipe is 2.00 feet?

a) 53.92
b) 55.92
c) 57.92
d) 51.92
94. What is the distance from center of MH to center of MH?

a) 56.92
b) 57.92
c) 58.92
d) 59.92
Diagram for questions 95-96
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95. What is the area of the land labeled A?

a) .926 acres
b) .931 acres
c) .951 acres
d) .961 acres
96. If the city was to pay for the land at $7500 an acre, how much would they owe?

a) $6,943

b) $7,943

c) $8,943

d) $9,943

97. What is the area of the land labeled B?
a) .334 acres

b) .304 acres 

c) .395 acres 

d) .391 acres

98) How much land, in a typical section is in the NW ½ of the N ½ of the N ½ of the SE ¼ ?

a) 5 acres

b) 10 acres 

c) 15 acres 

d) 20 acres

d) 25.5 acres

99) In which direction would the NW ½ of the N ½ of the N ½  SW ¼ lie in relation to question 98?

a) north

b) south 

c) east

d) west

100. With departure of 225.68 and a latitude of – 627.71 what is the bearing and distance.

a) S 19º46’30”E  667.05

b) S 19º46’40”E  637.05

c) S 19º46’50”E  647.05

d) S 19º46’20”E  657.05

